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QUANTITATIVE APTITUDE
Q.1 In ABC and PQR, AB = PQ

and B=Q. The two triangles
are congruent by SAS criteria

if:/ABC vkSj PQR esa] AB = PQ

vkSj B = Q-  SAS dlkSVh ds
vuqlkj nks f=kHkqt lokZaxle gksrs gSa ;fn%
(1) BC = QR (2) AC = PR
(3) AC = QR (4) BC = PQ

Q.2 Anuradha invests her money in
a firm where the principal
amount becomes 3 times in 10
years. What is the yearly rate of
simple interest offered by the

firm?/vuqjk/k viuk iSlk ,d iQeZ esa
fuos'k djrh gS tgka ewy jkf'k 10 o"kks± esa 3
xquk gks tkrh gSA iQeZ }kjk nh tkus okyh
lkèkkj.k C;kt dh okf"kZd nj D;k gS\
(1) 25% (2) 20%
(3) 22% (4) 18%

Q.3 Study the given graph and
answer the question that

follows./fn, x, xzkiQ dk vè;;u
djsa vkSj uhps fn, x, ç'u dk mÙkj nsaA
The number of appeared
candidates and passed
candidates (in hundreds) in a
test from six different

institutions./Ng vyx&vyx laLFkkuksa
ls ,d ijh{kk esa mifLFkr mEehnokjksa vkSj
mÙkh.kZ mEehnokjksa dh la[;k (lSdM+ksa esa)A
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The number of candidates who
passed from institutions C and
D  together is approximately
what percentage (rounded off
to the nearest integer) of the

total number of candidates
who appeared from
institutions B and E together?

/laLFkku C vkSj D ls ,d lkFk mÙkh.kZ
gksus okys mEehnokjksa dh la[;k] laLFkku
B vkSj E ls feykdj mifLFkr gksus okys
mEehnokjksa dh dqy la[;k dk yxHkx
fdruk çfr'kr (fudVre iw.kkZad rd
iw.kkZafdr) gS\
(1) 100% (2) 77%
(3) 95% (4) 90%

Q.4 Two trains are moving in the
opposite direction at the speed
of 48 km/hr and 60 km/hr
respectively. The time taken by
the slower train to cross a man
sitting in the faster train is 12
seconds. What is the length of

the slower train?/nks Vªsusa Øe'k%
48 fdeh@?kaVk vkSj 60 fdeh@?kaVk dh
xfr ls foijhr fn'kk esa py jgh gSaA
èkheh Vªsu }kjk rst xfr okyh Vªsu esa cSBs
O;fÙkQ dks ikj djus esa 12 lsdaM dk
le; yxrk gSA /heh Vªsu dh yackbZ
fdruh gS\
(1) 480 meters/eh
(2) 720 meters/eh
(3) 180 meters/eh
(4) 360 meters/eh

Q.5 A shopkeeper listed the
marked price of a chair at a
certain amount. If the
shopkeeper declares a 15%
discount and sold it at ̀ 1,445,
then what is the marked

price?/,d nqdkunkj us ,d dqlhZ dk
vafdr ewY; ,d fuf'pr jkf'k ij vafdr
fd;kA ;fn nqdkunkj 15% NwV dh
?kks"k.kk djrk gS vkSj bls `1,445 esa
csprk gS] rks vafdr ewY; D;k gS\
(1) `1,750 (2) `1,800
(3) `1,700 (4) `1,850

Q.6 In a factory, Ajay and Vijay work
on the same machine to cut
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diamonds but on alternate hour
basis. Ajay works for the first
hour and then Vijay works for
the second hour and so on. Ajay
can complete the work in 6
hours, while Vijay completes it
in 16 hours if they work
individually. In how much time
can they complete the work if
they are using the machine on

alternate basis?/,d dkj•kus esa]
vt; vkSj fot; ghjs dkVus ds fy, ,d
gh e'khu ij dke djrs gSa ysfdu ,dkarj
?kaVs ds vk/kj ijA vt; igys ?kaVs ds fy,
dke djrk gS vkSj fiQj fot; nwljs ?kaVs ds
fy, dke djrk gS vkSj blh rjgA vt;
bl dk;Z dks 6 ?kaVs esa iwjk dj ldrk gS]
tcfd fot; bls 16 ?kaVs esa iwjk djrk gS
;fn os vyx&vyx dk;Z djrs gSaA ;fn os
,dkarj vk/kj ij e'khu dk mi;ksx dj
jgs gSa rks os fdrus le; esa dke iwjk dj
ldrs gSa\
(1) 8 h 30 min (2) 8 h
(3) 9 h (4) 9 h 30 min

Q.7 In ABC and DEF, A = 55°,
AB = DE, AC = DF, E = 85°
and F = 40°. By which
property are ABC and DEF

congruent?/ABC  vkSj DEF,
A = 55°, AB = DE, AC = DF,

E = 85°  vkSj F = 40° fdl izse;
}kjk ABC vkSj DEF lokZaxle gSa\
(1) SAS property
(2) ASA property
(3) RHS property
(4) SSS property

Q.8 John drives 250 km at 50 km/
h and then he drives 350km
at 70km/h. Find his average
speed for the whole journey in

km/h./tkWu 50 fdeh@?kaVk dh xfr
ls 250 fdeh Mªkbo djrk gS vkSj fiQj
og 70 fdeh@?kaVk dh xfr ls 350 fdeh
Mªkbo djrk gSA iwjh ;k=kk esa mldh vkSlr
xfr fdeh@?kaVk esa Kkr dhft,A
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(1) 55 km/h/fdeh@?kaVk
(2) 60 km/h/fdeh@?kaVk
(3) 58 km/h/fdeh@?kaVk
(4) 65 km/h/fdeh@?kaVk

Q.9 If 1 3 4y    , then the

value of 2y4 - 8y3 - 6y2 + 28y -

84 is:/;fn 1 3 4y    ,  rks

2y4 - 8y3 - 6y2 + 28y - 84 dk
eku gS%
(1) 40 3 (2) 80 3

(3) 20 3 (4) 60 3
Q.10 If two circles do not touch or

intersect each other and one
does not lie inside the other,
then find the number of

common tangents./;fn nks o`Ùk
,d nwljs dks Li'kZ ;k çfrPNsn ugha
djrs gSa vkSj ,d nwljs ds vanj ugha
gksrk gS] rks mHk;fu"B Li'kZ js•kvksa dh
la[;k Kkr dhft,A
(1) 5 (2) 4
(3) 2 (4) 3

Q.11 A person having bought goods
for `400 sells half of it at a
gain of 5%. At what gain
percentage must he sell the
remainder, so as to gain 25%

on the whole?/,d O;fÙkQ us ̀ 400

esa lkeku •jhnk] mldk vk/k 5% ds
ykHk ij csprk gSA mls 'ks"k dks fdrus
ykHk çfr'kr ij cspuk pkfg,] rkfd
dqy feykdj 25% dk ykHk gks\
(1) 30% (2) 25%
(3) 20% (4) 45%

Q.12 If 
12

cot
5

A  , then the value

of sinA = ?/;fn 
12

cot
5

A  , rks]

sinA dk eku ¾ \

(1)
5

13
(2)

12

13

(3)
5

12
(4)

13

12

Q.13 What is the value of tan 6° ×
tan 45° × tan 84°?/tan 6° ×

tan 45° × tan 84° dk eku D;k gS\
(1) 1
(2) tan 6° × tan 39°
(3) 3
(4) tan 6° + tan 45° + tan 84°

Q.14 The given bar diagram
represents the number of
persons who have taken an
insurance policy on the y-
axis, and the year of purchase
of the insurance policy on the

x-axis./fn;k x;k naM vkjs• y&v{k
ij chek ikWfylh ysus okys O;fÙkQ;ksa dh
la[;k vkSj x&v{k ij chek ikWfylh
•jhnus ds o"kZ dks n'kkZrk gSA
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What is the approximate
percentage of change in the
number of persons who have
taken the insurance policy in
the year 2014 to that in the
year 2011 (correct to one

decimal place)?/o"kZ 2014 esa chek
ikWfylh ysus okys O;fÙkQ;ksa dh la[;k esa o"kZ
2011 esa (,d n'keyo LFkku ij lgh)
ifjorZu dk vuqekfur çfr'kr fdruk gS\
(1) 33.3% (2) 26.4%
(3) 35.5% (4) 23.1%

Q.15 If 
5 4

5 4
x





 and

5 4

5 4
y





 then the value

of 

2 2

2 2

x xy y

x xy y

 

 
 = ?/;fn

5 4

5 4
x





vkSj

5 4

5 4
y






rks  
2 2

2 2

x xy y

x xy y

 

 
dk eku gksxk

(1)
361

363
(2)

341

343

(3)
384

387
(4)

341

323

Q.16 If sin - cos = 
4

5
, then find

the value of sin + cos./;fn

sin - cos = 
4

5
, rks sin + cos

dk eku Kkr dhft,A

(1)
5

34
(2)

5

24

(3)
34

5
(4)

24

5
Q.17 An iron rod with diameter 4

cm and length 12 cm is drawn
into a wire of length 12 m of
uniform thickness. Determine

the thickness of the wire./4

lseh O;kl vkSj 12 lseh yackbZ okyh
,d yksgs dh NM+ dks leku eksVkbZ ds
12 ehVj yacs rkj esa •hapk tkrk gSA rkj
dh eksVkbZ Kkr dhft,A
(1) 0.6 cm (2) 0.7 cm
(3) 0.3 cm (4) 0.4 cm

Q.18 The fourth proportional to 16,

26 and 32 is:/16, 26 vkSj 32

dk prqFkkZuqikr gksxk gS%
(1) 16 (2) 52
(3) 54 (4) 24

Q.19 If tan (+)= 3 ,tan (-)=1

where (+) and (-) are
acute angles, then what is

tan(6)?/;fn (+)= 3 ,tan (-

)=1 vkSj (-) ,d U;wu dks.k gSa] rks
tan(6) dk eku D;k gksxk\
(1) -1 (2) 0

(3) 1 (4) 2 1

Q.20 If 2

2

5 1

p

p p 
 = 

1

10
, p  0,

then the value of 
1

p
p

 
 

 
 is:/

;fn 2

2

5 1

p

p p   = 
1

10
, p  0,

rks 
1

p
p

 
 

 
 dk eku gS%

(1) 10 (2) 25
(3) 1 (4) 15

Q.21 In a division sum, the divisor
is 10 times the quotient and
four times the remainder.
What is the dividend if the

remainder is 45?/,d Hkkx osQ
iz'u eas Hkktd] HkkxiQy dk 10 xquk
vkSj 'ks"kiQy dk pkj xquk gSA ;fn 'ks"kiQy
45 gS rks HkkT; D;k gS\
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(1) 4123 (2) 3285
(3) 2895 (4) 5412

Q.22 The table given below shows
the number of players
participating in two games in

six different schools?/uhps nh
xbZ rkfydk Ng vyx&vyx Ldwyksa esa
nks •syksa esa Hkkx ysus okys f•ykfM+;ksa dh
la[;k n'kkZrh gS\

Schools
D
E
F
G
H
I

Games
L

82
68
56
78
44
100

M
136
92
72
94
86
108

Number of players
participating in game L from
school D and E is how much
percent less than the number
of players participating in
game M from school H and I?/

Ldwy D vkSj E ls •sy L esa Hkkx ysus
okys f•ykfM+;ksa dh la[;k Ldwy H vkSj
I ls •sy M esa Hkkx ysus okys f•ykfM+;ksa
dh la[;k ls fdrus çfr'kr de gS\
(1) 22.68 percent/izfr'kr
(2) 32.52 percent/izfr'kr
(3) 26.22 percent/izfr'kr
(4) 43.53 percent/izfr'kr

Q.23 The HCF of 222, 642 and 1062

is ____./222, 642 vkSj 1062 dk
HCF ____ gSA
(1) 6 (2) 8
(3) 4 (4) 2

Q.24 The table given below shows
the cost price and profit
percentage of 5 articles./uhps nh
xbZ rkfydk 5 oLrqvksa dk ykxr ewY;
vkSj ykHk çfr'kr n'kkZrh gSA

Article
P
Q
R
S
T

Cost Price
450
250
600
730
400

Profit
90%
100%
60%
70%
80%

Total selling of article P and
Q is what percent of total
selling price of article R, S and

T?/oLrq P vkSj Q dh dqy fcØh
oLrq R, S vkSj T ds dqy foØ; ewY;
dk fdruk çfr'kr gS\
(1) 36.26 percent/izfr'kr
(2) 49.27 percent/izfr'kr
(3) 35.87 percent/izfr'kr

(4) 46.38 percent/izfr'kr
Q.25 A and B invested their money

in a business in the ratio of 9 :
5. If 10% of the total profit goes
for charity and A's share is
`29,840, what is the total profit
(in Rs., to the nearest integer)?/

A vkSj B us 9 : 5 ds vuqikr esa ,d
O;olk; esa viuk iSlk fuos'k fd;kA ;fn
dqy ykHk dk 10» nku ds fy, tkrk gS vkSj
A dk fgLlk `29,840, gS] rks dqy ykHk
(fudVre iw.kkZad rd #i;s esa) D;k gS\
(1) ` 51,745 (2) ` 55,715
(3) ` 57,545 (4) ` 51,575

GENERAL AWARENESS
Q.1 Match column-A with

column-B./LrEHk&v dks LrEHk&c
ls lqesfyr dhft,A
Column -A Column-B
dkWye&, dkWye&ch
i. G1 a. Cell

synthesises
a complete
copy of the

DNA/dksf'kdk
DNA dh ,d
iwjh çfr dk
la'ys"k.k djrh
gS

ii. S b. First gap
phase,the
cell grows
physically

larger/igyk
varjky pj.k]
dksf'kdk 'kkjhfjd
:i ls cM+h gks
tkrh gS

iii. G2 c. Cell begins
to reorgnise
its contents
in preparat-
ion for
mitosis./

ekbVksfll dh
rS;kjh esa lsy
viuh lkexzh
dks iquxZfBr
djuk 'kq: dj
nsrk gSA

iv. M d. Cell divides
its copied
DNA and
cytoplasm
to make two

new cells/

dksf'kdk vius
dkWih fd, x,
DNA vkSj
lkbVksIykTe
dks nks ubZ
dksf'kdk;ksa dks
foHkkftr djrk
gS

(1) i-b, ii-a, iii-c, iv-d
(2) i-c, ii-a, iii-b, iv-d
(3) i-a, ii-b, iii-c, iv-d
(4) i-b, ii-a, iii-d, iv-c

Q.2 If Q = net charge, t = time,
then which of the following

equations is correct?/;fn Q =

'kq¼ vkos'k] t =  le;] rks fuEufyf•r
esa ls dkSu lk lehdj.k lgh gS\

(1) t = Q × I (2) I = 
Q

t

(3) Q = 
I

t
(4) I = Q × t

Q.3 With which instrument do the
sisters Lalita and Nandini

identify?/yfyrk vkSj uafnuh cgusa
fdl ok| ;a=k ctkus osQ fy, tkuh
tkrh gSA
(1) Mandolin/eSaMksfyu
(2) Violin/ok;fyu
(3) Sarod/ljksn
(4) Flute/ck¡lqjh

Q.4 Guru Nileshwar Mukharjee is
the exponent of which of the
following Indian classical

dance forms?/xq# uhys'oj eq•thZ
fuEufyf•r esa ls fdl Hkkjrh; 'kkL=kh;
u`R; ds çfriknd gSa\
(1) Sattriya/lfÙ=k;k
(2) Manipuri/ef.kiqj
(3) Odissi/vksfMlh
(4) Kathak/dFkd

Q.5 Which of the following festivals
is organised by the
Government of Karnataka,
usually in January, to
celebrate the grandeur of
temples at a UNESCO heritage

site?/;wusLdks fojklr LFky ij eafnjksa
dh HkO;rk dk t'u eukus ds fy,] vkerkSj
ij tuojh esa dukZVd ljdkj }kjk
fuEufyf•r esa ls dkSu lk R;kSgkj vk;ksftr
fd;k tkrk gS\
(1) Kambala Festival/dackyk

egksRlo
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(2) Pattadakal Dance Festival

/iêðndy u`R; egksRlo
(3) Karaga Festival/djxk egksRlo
(4) Hoysala Festival/gk s;ly

egksRlo
Q.6 In which Five-Year Plan, was

the Mahalanobis Model started?

/egkyuksfcl ekWMy fdl iapo"khZ; ;kstuk
esa 'kq: fd;k x;k Fkk\
(1) Second/nwljk
(2) Fourth/pkSFkk
(3) Third/rhljk
(4) First/igyk

Q.7 The Basketball centre line is

part of the:/ckLdsVckWy esa lsaVj ykbu
bldk fgLlk gS%
(1) front court/izaQV dksVZ
(2) back court/cSd dksVZ
(3) restricted area/çfrcaf/r {ks=k
(4) middle court/fefMy dksVZ

Q.8 From the point of view of
commerce, the busiest ocean

of the world is _____./okf.kT; dh
n`f"V ls fo'o dk lcls O;Lr egklkxj
_____gSA
(1) Pacific ocean/ç'kkar egklkxj
(2) Indian ocean/fgan egklkxj
(3) Arctic ocean/vkdZfVd egklkxj
(4) Atlantic ocean/vVyk a fVd

egklkxj
Q.9 On which river, the first night

navigation mobile application
in rivers in India was launched

for ferries?/fdl unh ij] Hkkjr esa
ufn;ksa esa igyh ukbV usfoxs'ku eksckby
,fIyds'ku dks isQjh;ksa ds fy, ykWUp
fd;k x;k Fkk\
(1) Brahmaputra/czãiq=k
(2) Ganga/xaxk
(3) Kaveri/dkosjh
(4) Son/lksu

Q.10 Minhaj-i-Siraj was a
chronicler during the rule of

______./feUgkt&,&fljkt _____ ds
'kklu ds nkSjku ,d bfrgkldkj FkkA
(1) Sultan Iltutmish/lqYrku

bYrqrfe'k
(2) Qutbuddin Aybak/dqrqcqíhu

,scd
(3) Ghiyasuddin Balban/

x;klqíhu cycu
(4) Alauddin Khalji/vykmíhu

f•yth

Q.11 Joint Liability Group is
usually an informal group
that consists of ______
individuals who seek loans
against mutual guarantee./
la;qÙkQ ns;rk lewg vkerkSj ij ,d
vukSipkfjd lewg gksrk gS ftlesa
______O;fÙkQ gksrs gSa tks ikjLifjd xkjaVh
ds fo#¼ ½.k pkgrs gSaA
(1) 1-3 (2) 15-20
(3) 4-10 (4) 20-30

Q.12 Which of the following can
alter the boundary of a state

or change its name?/fuEufyf•r
esa ls dkSu fdlh jkT; dh lhek dks
cny ldrk gS ;k mldk uke cny
ldrk gS\
(1) State government/jkT; ljdkj
(2) Parliament/laln
(3) Supreme Court/lok Z s Pp

U;k;ky;
(4) High Court/mPp U;k;ky;

Q.13 Ganga Sagar Mela is
conducted at the mouth of the
river Hooghly in ______./xaxk
lkxj esyk _____ esa gqxyh unh ds
eqgkus ij vk;ksftr fd;k tkrk gSA
(1) West Bengal/if'pe caxky
(2) Bihar/fcgkj
(3) Goa/xksok
(4) Andhra Pradesh/vka/z çns'k

Q.14 ____ is a change of position./

_____ fLFkfr dk ifjorZu gSA
(1) Speed/xfr
(2) Velocity/osx
(3) Motion/xfr
(4) Distance/nwjh

Q.15 FIFA U-17 Women's World
Cup 2022 will be organised by
______./FIFA U-17 efgyk fo'o
di 2022 dk vk;kstu _____ }kjk
fd;k tk,xkA
(1) England /baXySaM
(2) Brazil/czkthy
(3) The US/vesfjdk
(4) India/Hkkjr

Q.16 “All India Muslim League” was
formed at Dacca in _____./

“vkWy bafM;k eqfLye yhx” dk xBu
<kdk esa ____ esa fd;k x;k FkkA
(1) 1900 (2) 1904
(3) 1902 (4) 1906

Q.17 Chittaranjan Das was the
political guru of which of the

following personalities?/fpÙkjatu

nkl fuEufyf•r esa ls fdl O;fÙkQRo ds
jktuhfrd xq# Fks\
(1) Subhash Chandra Bose/

lqHkk"k paæ cksl
(2) Mahatama Gandhi/egkRek

xka/h
(3) Jawaharlal Nehru/

tokgjyky usg:
(4) Bhagat Singh/Hkxr flag

Q.18 Which of the following pairs of
‘Dynasty – Ruled region’ is

correctly matched?/fuEufyf•r esa
ls dkSu&lk ^oa'k&'kkflr {ks=k* dk ;qXe
lgh lqesfyr gS\
I. Shakas – North west and

north India

'kd & mÙkj if'pe vkSj mÙkj Hkkjr
II. Vakatakas – Central and

western India

okdkVd & eè; vkSj if'peh Hkkjr
(1) Neither I nor II
(2) Only I
(3) Only II
(4) Both I and II

Q.19 Who was appointed as India's
chief G20 coordinator in April

2022?/vçSy 2022 esa Hkkjr ds çeq•
G20 lg;kstd ds :i esa fdls fu;qÙkQ
fd;k x;k Fkk\
(1) Jasleen Kohli/tlyhu dksgyh
(2) Harsh V Shringla/g"kZ oh

J̀axyk
(3) C Muhammed Faizi/lh

eqgEen iQSth
(4) Abhishek Singh/vfHk"ksd flag

Q.20 The Purple revolution was
launched by the Union Ministry
of Science & Technology in
Jammu and Kashmir. This
revolution is related to

cultivation of which crop?/iiZy
jsoksY;w'ku dks dsaæh; foKku vkSj çkS|ksfxdh
ea=kky; }kjk tEew vkSj d'ehj esa ykWUp
fd;k x;k FkkA ;g Økafr fdl iQly dh
•srh ls lacaf/r gS\
(1) Marigold/xsank
(2) Kashmiri Rose/d'ehjh xqykc
(3) Lavender/ySosaMj
(4) Himalayan Indigo/fgeky;u
bafMxks

Q.21 The atomic number of lead

is:/ysM dh ijek.kq la[;k gS%
(1) 81 (2) 78
(3) 82 (4) 79
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Q.22 Which of the following Articles
of the Constitution of India
deals with amendment in the

Constitution?/Hkkjr ds lafo/ku ds
fuEufyf•r esa ls dkSu lk vuqPNsn lafoèkku
esa la'kks/u ls lacaf/r gS\
(1) Article 365 (2) Article 360
(3) Article 368 (4) Article 355

Q.23 By which name is the
historical road built by Sher

Shah Suri known?/'ksj'kkg lwjh
}kjk fufeZr ,sfrgkfld lM+d dks fdl
uke ls tkuk tkrk gS\
(1) Grand trunk road/xzSaM Vªad jksM
(2) Express way/,Dlçsl os
(3) Highway/jktekxZ
(4) Cart road/dkVZ jksM

Q.24 The poverty ratio has declined
to ______ in 2011-12 in rural

India./xzkeh.k Hkkjr esa 2011&12 esa
xjhch vuqikr ?kVdj _____gks x;k gS
(1) 20.9 percent
(2) 30.9 percent
(3) 25.9 percent
(4) 35.9 percent

Q.25 In a lake ecosystem, the
primary consumers are_____./

,d >hy ikfjfLFkfrdh ra=k esa] çkFkfed
miHkksÙkQk ____gksrs gSaA
(1) Zooplankton/çkf.kIyod
(2) Phytoplankton/iQkbVksIykadVu
(3) Bacteria/thok.kq
(4) Fishes/eNfy;k¡

Q.1 Which two numbers and two
signs should be interchanged
to make the given equation

correct?/fn, x, lehdj.k dks lgh
djus ds fy, fdu nks la[;kvksa vkSj nks
fpÉksa dks vkil esa cnyuk pkfg,\
5 + 44 – 8 × 25 = 203

1. 8, 5 and/vkSj –, +

2. 8, 44 and/vkSj –, +

3. 8, 5 and/vkSj –, ×

4. 8, 44 and/vkSj –, ×
Q.2 Select the set in which the

numbers are related in the
same way as are the numbers

of the following set./ml lsV dk
p;u djsa ftlesa la[;k,a mlh rjg ls
lacaf/r gSa tSls fuEufyf•r lsV dh
la[;k,a gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking

down the numbers into its

constituent digits.)/(è;ku nsa%
lafØ;k,a iw.kZ la[;kvksa ij dh tkuh pkfg,]
la[;kvksa dks muds ?kVd vadksa esa foHkkftr
fd, fcukA)
(60, 5, 6)
(48, 8, 3)
1. (17, 3, 4) 2. (25, 4, 6)
3. (24, 4, 3) 4. (25, 4, 3)

Q.3 A & B means 'A is the son of B'
A # B means 'A is the sister of
B'
A @ B means 'A is the brother
of B'
A % B means 'A is the father
of B'
A – B means 'A is the daughter
of B'
A * B means 'A is the wife of
B'
If C # D @ E % Z & L # M - N
* P, then how is Z related to
N?

A & B dk vFkZ gS 'A] B dk iq=k gSA'
A # B dk vFkZ gS 'A] B dh cgu gSA'
A @ B dk vFkZ gS 'A] B dk HkkbZ gSA'
A % B dk vFkZ gS 'A] B dk firk gSA'
A – B dk vFkZ gS 'A] B dh iq=kh gSA'
A * B dk vFkZ gS 'A] B dh iRuh gSA'
;fn C # D @ E % Z & L # M - N

* P, gS] rks Z, N ls fdl çdkj
lacafèr gS\
1. Son/iq=k
2. Grandfather/nknk
3. Father/firk
4. Grandson/iksrk

Q.4 Select the set in which the
numbers are related in the
same way as are the numbers

of the following sets./ml lsV
dk p;u djsa ftlesa la[;k,a mlh rjg
ls lacaf/r gSa tSls fuEufyf•r lsV dh
la[;k,a gSaA
(NOTE : Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ

la[;kvksa ij lapkyu fd;k tkuk pkfg,A
mnkgj.k ds fy, 13 & 13 ij lapkyu
tSls 13 dks tksM+uk @ ?kVkuk @ xq.kk djuk
vkfn fd;k tk ldrk gSA 13 dks 1 vkSj 3
esa rksM+uk vkSj fiQj 1 vkSj 3 ij xf.krh;
lafØ;k,¡ djus dh vuqefr ugha gS)
(144, 9, 3)
(225, 7, 8)
1. (168, 5, 8) 2. (64, 5, 3)
3. (81, 6, 2) 4. (120, 7, 4)

Q.5 Select the figure that will
come next in the following

figure series./ml vkÑfr dk p;u
djsa tks fuEufyf•r vkÑfr J̀a•yk esa
vkxs vk,xhA

1. 2.

3. 4.   

Q.6 Select the figure from among
the given options that can
replace the question mark (?)

in the following series./fn, x,
fodYiksa esa ls ml vkÑfr dk p;u djsa
tks fuEufyf•r J̀a•yk esa ç'u fpÉ (?)

dks çfrLFkkfir dj ldrh gSA

1.

2.

3.

4.
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Q.7 Read the given statements
and conclusions carefully.
Assuming that the
information given in the
statements is true, even if it
appears to be at variance with
commonly known facts,
decide which of the given
conclusions logically follow(s)

from the statements./fn, x,
dFkuksa vkSj fu"d"kks± dks è;ku ls i<+saA
;g ekurs gq, fd dFkuksa esa nh xbZ
tkudkjh lR; gS] Hkys gh ;g lkekU;
:i ls Kkr rF;ksa ls fHkUu çrhr gksrh
gks] r; djsa fd fn, x, fu"d"kks± esa ls
dkSu lk dFkuksa dk rkfdZd :i ls
vuqlj.k djrk gSA
Statements:/dFku
I. All pens are plates./lHkh isu

IysV gSaA
II. All plates are trays./lHkh

IysV Vªs gSaA
III. Some trays are boxes./dqN

Vªs ckWDl gSaA
Conclusions:/fu"d"kZ
I. Some boxes are plates./dqN

ckWDl IysV gSaA
II. Some trays are pens./dqN

Vªs isu gSaA
III. Some boxes are pens./dqN

fMCcs isu gSaA
IV. No tray is a plate./dksbZ Vªs

IysV ugha gSA
1. Only conclusion II follows.

/dsoy fu"d"kZ II vuqlj.k djrk gSA
2. Only conclusion I follows./

dsoy fu"d"kZ I vuqlj.k djrk gSA
3. Only conclusion III

follows./dsoy fu"d"k Z III

vuqlj.k djrk gSA
4. Only conclusion IV

follows. /dsoy fu"d"kZ IV

vuqlj.k djrk gSA
Q.8 In the following question,

select the missing number
from the given series./

fuEufyf•r ç'u esa] nh xbZ J̀a•yk ls
yqIr la[;k dk p;u djsaA
69, 70, 73, 78, 85, ?
1. 94 2. 90
3. 85 4. 76

Q.9 In a certain code language,
'CAP' is coded as '262413' and
'LOG' is coded as '171022'.

How will 'BED' be coded in

that language?/,d fuf'pr dksM
Hkk"kk esa] 'CAP' dks '262413' vkSj
'LOG' dks '171022' ds :i esa dksfMr
fd;k x;k gSA ml Hkk"kk esa 'BED' dks
fdl çdkj dksfMr fd;k tk,xk\
 1.  11825 2. 12027
 3.  12025 4. 12225

Q.10 If A × B means that A is the
father of B, A + B means that
A is the mother of B, A ÷ B
means that A is the brother
of B then which of the
following expression shows
that A is the paternal uncle
of C?

;fn A × B dk vFkZ gS fd A] B dk
firk gS] A + B dk vFkZ gS fd A] B
dh ekrk gS] A ÷ B dk vFkZ gS fd A]
B dk HkkbZ gS] rks fuEufyf•r esa ls dkSu
lk O;atd n'kkZrk gS fd A] B dk firk
gS C ds pkpk\
1. A ÷ C + B 2. A ÷ B + C
3. A + B ÷ C 4. A ÷ B × C

Q.11 Select the cube that can be
formed by folding the given

sheet along the lines./ml ?ku
dk p;u djsa tks nh xbZ 'khV dks js•kvksa
ds lkFk eksM+dj cuk;k tk ldrk gSA

1

5

4

3

2

6

4

3 5

A

1

4 5

B

2

4 5

C

1

6 5

D
1. Only C and D/dsoy C vkSj D
2. Only A and B/dsoy A vkSj B
3. Only A and C/dsoy A vkSj C
4. Only A, B and C/dsoy A,

B vkSj C
Q.12 Three of the following letter-

clusters are alike in some
manner and hence form a
group. Which letter-cluster
does not belong to that

group?/fuEufyf•r es a ls rhu
v{kj&lewg fdlh rjg leku gSa vkSj
blfy, ,d lewg cukrs gSaA dkSu lk
v{kj&lewg ml lewg ls lacaf/r ugha gS\
1. BYI 2. KPR
3. QLA 4. DWK

Q.13 Select the correct mirror
image of the given figure when
the mirror is placed at AB as

shown./nh xbZ vkÑfr dh lgh niZ.k
Nfo dk p;u djsa tc niZ.k dks AB

ij j•k x;k gS tSlk fd fn•k;k x;k gSA

1.

2.

3.

4.

Q.14 In a certain code language,
'BRIGHT' is written as 'TTKIJB'
and 'ROAST' is written as
'TQCUR'. How will 'AROUND'
be written in that language?/

,d fuf'pr dksM Hkk"kk esa] 'BRIGHT'

dks 'TTKIJB' vkSj 'ROAST' dks
'TQCUR' fy•k tkrk gSA ml Hkk"kk esa
'AROUND' dSls fy•k tk,xk\
1. DTQWPA 2. RTQWPF
3. TTQWRD 4. CTQWPF

Q.15 Select the option that is related
to the third word in the same
way as the second word is
related to the first word. (The
words must be considered as
meaningful English words and
must not be related to each
other based on the number of
letters/number of consonants/
vowels in the word)
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ml fodYi dk p;u djsa tks rhljs
'kCn ls mlh rjg lacaf/r gS tSls nwljk
'kCn igys 'kCn ls lacaf/r gSA ('kCnksa
dks lkFkZd vaxzsth 'kCn ekuk tkuk pkfg,
vkSj 'kCn esa v{kjksa dh la[;k@O;atuksa@Lojksa
dh la[;k ds vk/kj ij ,d nwljs ls
lacaf/r ugha gksuk pkfg,)
Commence : Begin :: Doctrine
: ?
1. Belief 2. Conduct
3. Duty 4. Study

Q.16 By interchanging the given
two signs which of the
following equation will be not

correct?/fn, x, nks fpUgksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu lk
lehdj.k lgh ugha gksxk\
– and ×
1. 20 × 12 + 6 - 16 ÷ 8 = 20
2. 16 × 91 ÷ 13 + 5 - 3 = 24
3. 20 × 8 - 4 ÷ 2 + 3 = 7
4. 4 × 5 - 36 ÷ 6 + 10 = 10

Q.17 Which two signs and two
numbers should be
interchanged in the following
equation to make it correct?/

fuEufyf•r lehdj.k dks lgh djus ds
fy, fdu nks fpÉksa vkSj nks la[;kvksa dks
vkil esa cnyuk pkfg,\
686 – 14 × 49 + 400 ÷ 5 = 596
1.  5 and 49, ÷ and –
2. 686 and 5, + and –
3. 14 and 49, × and –
4. 14 and 5, + and ×

Q.18 After arranging the given
words according to dictionary
order, which word will come

at 'Fifth' position?/fn, x, 'kCnksa
dks 'kCndks'k Øe ds vuqlkj O;ofLFkr
djus ij 'ikaposa' LFkku ij dkSu lk 'kCn
vk,xk\
1. Devotional 2. Devolution
3. Devotement 4.
Devocalize
5. Devoutness
1. Devotement 2.
Devocalize
3. Devoutness 4.
Devotional

Q.19 Select the set in which the
numbers are related in the
same way as are the numbers

of the following sets./ml lsV
dk p;u djsa ftlesa la[;k,¡ mlh rjg
ls lacaf/r gSa tSls fuEufyf•r lsVksa dh
la[;k,¡ gSaA

(NOTE : Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding / subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is NOT

allowed)/(uksV% la[;kvksa dks muds ?kVd
vadksa esa foHkkftr fd, fcuk] iw.kZ la[;kvksa
ij lapkyu fd;k tkuk pkfg,A mnkgj.k
ds fy, 13 & 13 ij lapkyu tSls 13
dks tksM+uk @ ?kVkuk @ xq.kk djuk vkfn
fd;k tk ldrk gSA 13 dks 1 vkSj 3 esa
rksM+uk vkSj fiQj 1 vkSj 3 ij xf.krh;
lafØ;k,¡ djus dh vuqefr ugha gS)
(34, 23, 12)
(71, 37, 3)
1. (75, 50, 20)2. (20, 65, 50)
3. (19, 55, 91)4. (14, 12, 16)

Q.20 Select the option figure in
which the given figure (X) is
embedded as its part (rotation

is not allowed)./ml fodYi vkÑfr
dk p;u djsa ftlesa fn, x, vkadM+s (X)

dks mlds fgLls ds :i esa ,EcsM fd;k
x;k gS (jksVs'ku dh vuqefr ugha gS)A

(x)

1.

2.

3.

4.

Q.21 In the following question, four
number pairs are given. In
each pair the number on left
side of (-) is related to the
number of the right side of (-
) with some Logic/Rule/
Relation. Three pairs are
similar on basis of same
Logic/Rule/Relation. Select
the odd one out from the given

alternatives./ fuEufyf•r ç'u esa]
pkj la[;k ;qXe fn, x, gSaA çR;sd tksM+h
esa (&) ds ckbZa vksj dh la[;k (&) ds
n k b Z a  v k s j  dh l a [; k l s  d qN
rdZ@fu;e@laca/ ds lkFk lacaf/r gSA leku
rdZ@fu;e@laca/ ds vk/kj ij rhu tksM+s
leku gSaA fn, x, fodYiksa esa ls fo"ke
dks pqfu,A
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not

allowed)/(uksVa% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lafØ;k,¡ dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13
esa tksM+uk@?kVkuk@xq.kk djuk vkfn fu"ikfnr
dh tk ldrh gSaA 13 dks 1 vkSj 3 esa
foHkkftr djuk vkSj fiQj 1 vkSj 3 ij
xf.krh; lafØ;k,¡ djus dh vuqefr ugha
gS)
1. 9 - 80 2. 7 - 52
3. 5 - 24 4. 11 - 120

Q.22 A series is given with one term
missing. Select the correct
alternative from the given
ones that will complete the

series./,d vuqØe fn;k x;k gS ftlesa
,d in yqIr gSA fn, x, fodYiksa esa ls
og lgh fodYi pqfu, tks J̀a•yk dks
iwjk djsA
TMTQ, WGCE, ZALS, CUUG,
?
1. FMRS 2. FODU
3. FORQ 4. FRMQ

Q.23 Which of the following letters
will replace the question mark
(?) and complete the following

letter series?/fuEufyf•r esa ls dkSu
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lk v{kj ç'u fpÉ (\) dks çfrLFkkfir
djsxk vkSj fuEufyf•r v{kj J̀a•yk dks
iwjk djsxk\
Q, O, M, K, I, G, ?
1. D 2. F
3. G 4. E

Q.24 Select the word-pair that best
represents a similar
relationship to the one
expressed in the given pair of

words./ml 'kCn&tksM+h dk p;u djsa
tks fn, x, 'kCnksa dh tksM+h esa O;ÙkQ
fd, x, leku laca/ dk lcls vPNk
çfrfuf/Ro djrk gSA
(The words must be
considered as meaningful
English words and must not
be related to each other based
on the number of letters/
number of consonants/

vowels in the word)/('kCnksa dks
lkFkZd vaxzsth 'kCn ekuk tkuk pkfg,
vkSj 'kCn esa v{kjksa dh la[;k@O;atuksa@Lojksa
dh la[;k ds vk/kj ij ,d nwljs ls
lacaf/r ugha gksuk pkfg,)
Road : Concrete
1. Water : Glass
2. Jewellery : Bangle
3. Doctor : Medicine
4. Wall : Brick

Q.25 In the following question
below are given some
statements followed by some
conclusions based on those
statements.Taking the given
statements to be true even if
they seem to be at variance
from commonly known facts.
Read all the conclusions and
then decide which of the given
conclusion logically follows
the given statements.

uhps fn, x, ç'u esa dqN dFku fn,
x, gSa vkSj mu dFkuksa ds vk/kj ij dqN
fu"d"kZ fn, x, gSaA fn, x, dFkuksa dks
lR; ekurs gq, Hkys gh os loZKkr rF;ksa
ls fHkUu çrhr gksrs gksaA lHkh fu"d"kks± dks
i<+sa vkSj fiQj r; djsa fd fn, x,
fu"d"kks± esa ls dkSu lk fu"d"kZ rkfdZd
:i ls fn, x, dFkuksa dk vuqlj.k
djrk gSA
Statements:/dFku
I. Some Z are F./dqN Z, F gSA
II. All G are Z./lHkh G, Z gSA
Conclusion:/fu"d"kZ

I. No F is G./dksbZ F, G ugha gSA
II. Some G are not F./dqN G]

F ugha gSaA
III. No F is Z./dksbZ F, Z ugha gSA
1. Only conclusion II follows.

/dsoy fu"d"kZ II vuqlj.k djrk gSA
2. Both conclusions II and III

follows./fu"d"kZ II vkSj III nksuksa
vuqlj.k djrs gSaA

3. Both conclusions I and II

follows/fu"d"kZ I vkSj II nksuksa
vuqlj.k djrs gSaA

4. Neither conclusion

follows./dksbZ Hkh fu"d"kZ vuqlj.k
ugha djrk gSA

Q.1 Select the most appropriate
ANTONYM of the given
word.
Vigilant
(1) Stagnant (2) Dubious
(3) Robust (4) Negligent

Q.2 Select the correct indirect
form of the given sentence.
The professor said, “I want
you to pursue your dreams” .
(1) The professor said that I

want you to pursue your
dreams.

(2) The professor said that he
wanted me to pursue my
dreams.

(3) The professor says that he
wants me to pursue my
dreams.

(4) The professor told me that
I wanted you to pursue
your dreams.

Q.3 Select the most appropriate
alternative to replace the
underlined segment in the
given sentence.
They met yesterday, haven’t
they?
(1) don’t they?
(2) isn’t it?
(3) didn’t they?
(4) did they?

Q.4 Select the most appropriate
synonym of the underlined
word.
My father took a moment to
ponder before signing the
deeds of our ancestral home.
(1) Hesitate
(2) Contemplate
(3) Sigh
(4) Brief

Q.5 Select the most appropriate
meaning of the underlined
idiom in the given sentence.
I bought some extra copies
from the stationery shop.
These may come in handy
during exams.
(1) Be useful
(2) Cause trouble
(3) Be sold
(4) Bring luck

Q.6 Select the correct passive
form of the given sentence.
She has learned many lessons
in this camp.
(1) Many lessons has been

learned by her in this
camp.

(2) Many lessons are being
learned by her in this camp.

(3) Many lessons have been
learned by her in this camp.

(4) Many lessons were learned
by her in this camp.

Q.7 Select the most appropriate
option to substitute the
underlined segment in the
given sentence. If there is
no need to substitute it,
select ‘No substitution’.
No sooner did this idea enter
his head, than it carried
conviction with it.
(1) No sooner does this idea

enter
(2) No substitution
(3) No sooner do his idea

enter
(4) No sooner has his idea

enter
Q.8 Select the most appropriate

option that can substitute
the underlined segment in
the given sentence. If there
is no need to substitute it,
select ‘No substitution’.
Holi is a festival of revelry and
camaraderie which is
celebrated between the
country.
(1) No substitution
(2) celebrated upon the

country
(3) celebrated at the country
(4) celebrated across the

country
Q.9 Parts of the following

sentence have been given as
options. Select the option
that contains a grammatical
error.
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The article that she wrote /
for the last week’s Sunday
Supplement / fairly criticises
/ the abuse of mobile phones.
(1) The article that she wrote
(2) for the last week’s Sunday

Supplement
(3) the abuses of mobile

phones.
(4) fairly criticises

Q.10 A sentence has been given
with a blank to be filled with
an appropriate word. Choose
the correct alternative.
More than 200 eminent
Indian Americans attended
the reception at the East
Room, a venue which has
________ some of the
landmark events related to
the India-U. S. relationship.
(1) witnessed (2) surpassed
(3) rebuffed (4) grounded

Q.11 Select the INCORRECTLY
spelt word in the following
sentence.
Kamal’s repetative mistakes
and slip of tongue often create
embarrassing moments for
him.
(1) embarrassing
(2) slip
(3) moments
(4) repetative

Q.12 Select the most appropriate
meaning of the given idiom.
Play it by ear
(1) To do something without

special preparation
(2) To plan
(3) To listen carefully
(4) To improve

Q.13 Parts of the following
sentence have been given as
options. Select the option
that contains a grammatical
error.
Mother said that / it was
quite all right / for her to get
upset / for scoring less.
(1) Mother said that
(2) it was quite all right
(3) for scoring less.
(4) for her to get upset

Q.14 Select the most appropriate
ANTONYM of the underlined
word.
Evolutionary psychology is a
recently advanced field of
study, which has grown
exponentially with interest
since the 1980s.

(1) Rudimentary
(2) Lackadaisical
(3) Operative
(4) Presumptuous

Q.15 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence.
Many companies displaced
paying income tax last year.
(1) hedged to paying
(2) circumvent to paying
(3) hedged in paying
(4) evaded paying

Q.16 Select the most appropriate
option to fill in the blank.
One has to _____________ the
risks associated with global
warming.
(1) cook in mind
(2) bear in mind
(3) take in mind
(4) break in mind

Q.17 The question below consists
of a set of labeled sentences.
Out of the four options
given, select the most
logical order of the
sentences to form a
coherent paragraph.
P. Despite that my guide Raj

Lama sent me hiking up
yet another trail to try to
get a better view.

Q. I was not impressed, and
I let him know.

R. I was on the Chele La
mountain pass in west
Bhutan.

S. The weather was ominous
and it was raining too.

(1) QPRS (2) SRPQ
(3) SQPR (4) RSPQ

Q.18 Select the correct passive
form of the given sentence.
The snow-storm might have
delayed Mira.
(1) Mira might have been
delayed by the snow-storm.
(2) Mira may be delayed by
the snow-storm.
(3) Mira might be delayed by
the snow-storm.
(4) Mira may have been
delayed by the snow-storm.

Q.19 Select the most appropriate
ANTONYM of the given
word.
Anxiety

(1) Discomfort (2) Relief
(3) Agitation (4) Stress

Q.20 Choose the incorrectly spelt
word.
(1) Streamlining
(2) Construction
(3) Barbaric
(4) Evolutoin

Comprehension: In the following
passage, some words have been
deleted. Read the passage carefully
and select the most appropriate
option to fill in each blank.
Culture can be a beautiful thing.
There are many aspects that make
up one’s culture. Whether it may
be the clothing, language, religion,
food, traditions or even music, all
aspects play a (1)____ role in
making up a person’s culture. I
think culture is so important
because it does not affect only one
person; it affects the (2)____ and
also affects the other people around
it. I am happy to know my culture
and to know where my family
(3)____ from. It gives me the sense
of being whole, and at the same
time makes me feel (4)____ and
different from other people.
Different cultures and different
people make our country the
beautiful melting pot we are
(5)_____ to call it.
Q.21 Select the most appropriate

option to fill in blank
number 1.
(1) calm (2) busy
(3) huge (4) clumsy

Q.22 Select the most appropriate
option to fill in blank
number 2.
(1) country (2) climate
(3) course (4) career

Q.23 Select the most appropriate
option to fill in blank
number 3.
(1) drawn (2) originated
(3) imagined (4) managed

Q.24 Select the most appropriate
option to fill in blank
number 4.
(1) careful (2) evil
(3) original (4) helpless

Q.25 Select the most appropriate
option to fill in blank
number 5.
(1) thoughtful (2) grumpy
(3) innocent (4) proud


